Subject: conversion from IDL v1
Posted by stpat on Tue, 05 Apr 1994 18:22:00 GMT

View Forum Message <> Reply to Message

Hi. I am in the process of upgrading programs from Version
1, and am a bit confused by what has happened to IGNORE.
The manual says to use /NOCLIP, but describes it as
turning on and off clipping. The reason | was using IGNORE
was because of the annoying way the vectors were altered
if points fell outside the plot axes. But, if | understand the
manual correctly, now clipping is done, which | interpret

to mean that the vectors aredrawn correctly inside the

plot axes. Is my interpretation correct? And, the NOCLIP

for the XYOUTS procedure is different from the NOCLIP

for the PLOT procedure (i.e., opposite)? Thanks for

your help!!!

Patti Twigg
stpat@lepvax.gsfc.nasa.gov
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